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SYWOPSTS
~Go over lobS.

LA S

~On Conws, g0 Y0 e Lo S’ assgnmerr\’ ond Tead the labS.himl”
Gle otached. Al" lob detoils will be them,

- Theee s on\p one pact. buk ™y gode splts W o TheeE et s
yw shad o donce. Trust me.

- Thee is  Yemplote  wde, like usvol. Dnlike lobd,  comes wita
e copg sorpk tlus Fime. 2D

Svewmzecszony CommAand

—toe - \obStar  Svdoku.cpp

Beaave T Down

-3 P
1)) Servp Yemplate | read ek, erroc Cnecking
2.) Sudoko Rewrsive Solve (Moive) + ‘lapsed” Funchion
2 ) We wn do beler.. mwon beter
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Paer L Serr Temnats, Reap TXT, ErRdR CHELEING

~Thee is & dass nomed omegq.. Do naHM‘vé wite i
o now...

- There s & fondhion colled e\apsed. Comment + oot
$or nowo. .

- There are two fnchors named  +ime_elapsed. Deleke
Fhem. Theé arot used.

- There s & doss nomed sudokw. The %\\owig S done
Lor ?ou:
- Conshrvdoe
- sowe () (Paaﬂ-a\\g)
— s0lve (o) (Poevdo-code)
— disph
- read, (Pm\\g)
- Lrite (Botin)

-For this ‘pacr 1°. wplement (i suggeshed order):
= read
- exvror _chedm_valve (beo))
- erfo_ cned — Uniqueness @

= checks_roo (ind | int)
OPTIOWAL . BUT

- checkk _col (in’\'\ )
HIGHLY eEcommerren
~ chedda_square (int | ink, ink)

(indewrs = heper Sundrions)

- Maw?g sdokw cass e Those Cndrions.
B “oror ek " and “chede_ " Sonckions
e a bool.
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2 Renp
“Moake o bodd wled “eror” of Hhe ‘op and ser it
to FasE. This waridble shol be sk 4o Teve f o
emor ouwrS.

-Make o wr called “line” and ser i Yo |
defur. ARec esdi teation of e wlWie loop,

noremeny it
“gou dowt need gekling. Assome 3 wrs per line.

“Iw the while loop. Onede, € 1 oc ) are ot
berween O and &
-IF ettrer are out sor eooc Yo TROE  and
POk an emmor me,ssage, Yo sher efher via
e or Span€,

n

“AY end Ff wiile lop,

exir via ek (o),

error” s TeUB, S\Mp\a

- Ca\ o\'tsP\agc ) 4o prnk youe amazivg puzde out.

-Ca\\ eror-crnede _valve, T W ttuems TRUE, Ser
‘oo 4o Tevs. (IF takes a boo. Fass i Tewe)

= Ca\l  exror_Onede _unigpeness. IF W& rpoms TRUE,
sek “ever” Yo TRUE,

- Once agau‘w-\ e € “ercoc” is Tevs, 1F so,

ext via exit(0)'.
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A Exeor _HELKL _VALUE
- boo\  emor_dnedaualve (boo\ zeo_vahid);

“Howe o Do\ nomed eror. Tx QWndkions ke
M resd.

- Loop +hrougu.  ew e\, thede. € their valves
are, Witk renge. Valid Conge depend on. zero_vedid. -

-Tevt: O-14 (For on. unsolved pvzz\e)
-Faxe: 1 -4 (F'or a  Solved pun\e,)

-1F onn ) goes our oFr‘wge,‘ sy “eror” Yo TewE
and pavk emor Yo stenr via e or Sphutt

- Siw.p‘a rum.  ecror.

A Ewgov_izzk_ unvanueners  (AuD ek x)
-boo) e Oneck_unigyeness (),
"Mw\?_ wmas to do twis,
-Make 2 Sundions:
— oo\ dneck_rpo(ing «, it v)y

- oo\ cnedde_col (ind ¢ ind v),
- bool ohuk-sq’m(iw]- T ST DN

- Their obgetives o smple (shoid ﬁ\za dose Yo acepr W):
— oo\ nede_rpro(ing =, it V)]

ey o\ s in ow ¢ e wue v. Rauew. Fase
V ows A row — move ton one, True othenwise,
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- oo\ cnedde_col (ind ¢ ink v),
- O a\ s v o\vmnl ¢ %c wue v. Revwen Fase f
V owwrs e oo ¢ more thon once. Teos obenoise.,

- bool ow.dt-_sq,wrc.(iwl- NSy vy
~Chede o\ s i imer 3D squee okl ot (1) B
vidve v. Reduewe Fase i V owsrs v Hus innec Spoce

More, un once. Teve  othenwise.

-lWhen I s? moec x5 squere, T mean
=0 W), Thes, here n Rep:
|

- Assumc

- Chechn e region Lor  Aupiudes:

S=(272) %3 [ swer:
3= (3713) * 3 [[Shart 3

- For 0;03 ce\ (i’\’})‘ ron these theee  helper fundions.
- Ron on\a € gme[115) > 0 bho..

-IF Ay of themw &\, a r\ox\-un'n(‘ue. valve. wes Sound
Kk Yo ermoc via e oc CprndF

‘Siw.p‘a v ecror.
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Pazr 2 Suporwv ReWwestvE Sowe (UAIULB + Cuamed” Funxazow

-Norice? Thees “wo  sowe Suncrions.
-sowe() - Rewrsion stacier.
- soWel..) - Acrua\ recursion fundrion.

"Argvmexd's 23 omb'lg.:aus S0 yov hoose Your
wesapon of i, However .. i wont” matec
- Fewo choices:
- boo\ solve (inr el -vwa
Modbes cewrsive ol eosier
- bool sole Ciut i, inr 'a\‘)
Makes olling more recdoble

- bool  solwe (Vedor<ing s, i (,)
Whok? W), s The sone dhoce.
If ggu went Yo wruive pocty 3.

- Noo +hedt 300 made. Youe ‘Doice” (VUMBER 3, SERIOUSLY ).\
we need o heper Sundvon called  vedid uslves
- Vedor <> vahid_valves (x i, i 3

- Given a ce\ of (i\}) (WE':]E}J)\ teruens
o vedor<ink> of o\ possbe velves Thot cell
wn be. givu\ +he et gpme board.

- This is eosie~ Hon it looks, ¥ 3019 wrohe
Med_roo, dnedh o), and nedn_sguore.

-Back vp ga/mti]l:}l o o -\-e,mpomg ke

-Make a vedordivdy do  troow
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—leoop From_ | +o 9 (‘»nc\usivda3\ 56-\’«%»/3
?me,lli]té] to  eac.
“Bon  chedhmwo, dneck cod [ and nedk squore,
IF none Gl push Wk wdue to the

vedore.

- Sexr WE]J['}J Yo oﬁg_’m\ volve sSored
+6Mpoma i,
-Note, we wn shore | and \ w0« 6ir3\e. volue ond
gd' those valves back:
-2vo-\ = (ix4) +
= V-t 1= oo [ 4
u}’- nom 7o 4

*ﬁoult'.
“Makhe a bt coled enor.
- I3 Aoes WA‘\}WVW\‘ gaJ'\’\&v\)l- W does.

-Make a vedordinkd wled s,
- Loop +Wt>g\/u 9x4 gnd Theet the numbes of
the s T onvected  2-to-| by the equation
obove  (ix4)r 3y Wio ouc newly  oreated vedoc
named s ... game,[iJ[(}J is O.

-9&5\ we are mo.\sirg a wdoe ofF s Thot need
Yo be §iled i,

- // Unlesde recursion. like hell ..
i€ (sowelws o)) {
Asplay O:
3 ?02 S
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- XV 301)( o Onedaing, fom (eed down beleww.
Bor mame sue it ~ e _value (FALSE) Huis
+Fme .

A Sowe (THe e owe)
= boo\  solve (vecrorLink> s, i )y
-In & notshel, o\ pessible  valid wves Sor

ce\ ox ce\s <) and 9 2 4ne ned- co\\. Rewrse
bl DovE o FATURE.

-Ficsk, cheda & == celesize).
-Rervrw. Tews € 50, T+ means we <olved i+

-Extrok and Lo ces[c) usir\g e |-4o-
e,%ua:\'iov\, absove .
-1 = cWsl) /) 4q

_é = ceV\s[c1Z 9

-Grob We vdid veves for the )\ via the
valid_vdues haper funcrion made esclier. Store -
W oo vedor<lingd vives.

1€ wluessize() is O, revuru FasE. We messed up.
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~Loop ¥hromge all valves in. valves :
- deX apme LILY) 1o eada volve.

‘Tr‘g Yo <0we(.) the nexy cel. Its rehruna vave
movers:
- Teve: A sowton was fwnd! Rewen TeuE.
- FALLE: Whotever 1+ +ried . those (Hore  colls
a\ar\g Swled. Do na-H/ung LleX Hhe loop
go Yo next iterahon.

-Yost the loop, we must assume Lailoe .
- Seb %ame,ti][é] ‘o O
- Redwow. Codse

—Thouy_ld' we were done?  Weone!
-"Add code Yo the rewrsie wove fundion to
ensore Fhot e nexd e\ considered has
e \owest number of wvalid voles of
Hhoze \eftH

- That's park .. bho lol. Told 3& Yo use
vecrors foc Ywe cells.
P ELAP=LO

- otrice (onsr char *pnits ] s\obou\ a.cm}
—smné eopsed (Cloor dvmbon, inx i = 0))

- I domdion < O\ rewrsive codl wital:
- ducation. % 1000
-1+
- 1€ cewrsed, revurd the a-rivé the
recorsiwe ol trumms,
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-IF docovon is \o«g&(‘\ Yme Yo construck
+hot 3\'(\@
- Findude <sstream >
- #inode < omenip
= Construcr o ﬂﬂr\é via oﬁﬁrgsﬁtam. Oive
t docokion and onitsLill,

- Refvor. Fhe v inside. +e osh'\vésm
(i hoe a 570 Sonckion ).
A MATV

-C\’\arge e lines wWhere TO and T) are <k
Y -Hme,r.%e)r_sec().

"}'\oc\i% thar Bno\ oo dovement to prwk
eopsed, as well os seonds wie Fixed predision
ond (o delimdd Paes.
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Parr 2: WE ¢cAan Do Bemer... MucH BEmEr.

-1 hope You chose o wale Solve () i
Vedkors . becovse  its going Yo be Usef) here.

A Sowe (eeweswe one)

-Were %Dmé o mod\% ‘e b(gwwl%
- Just afer e Fist dnedn (Wida. retomns
TRUE)... woe Fwo wscobles:

- Jowesr_w  — lowestr valid volve

- Jowesr_wo_ i — index of o\ w/] \owest valid vaoe

- Loop fron ¢ (pussed wmdo fondion) 1o sice of
e\’ and o\ vslid _velues  on e\l fnec.
SYoe e \owed one (bg ndex) e dowest_uui
ond Sore Yhe rlorw valve ol vadid_veloes in

Vowoest_wv.

—LWhen Fhk s done, 800 W\ have Yhe ndex ofF
the e\ Wit the least pessibe  uplid valves.
SWAP o\ [lowesk_wu_i] wide  ceM[c],

- The Smpe df\ange, ot my pa-fonv\onu. Up
oround 1Sx. JI¥s o small t,Wmée,\ Sor W rea.\\é
he\ps.
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